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Topic:- Child Development & Pedagogy (CDP)

1) Claustrophobia is a fear of enclosed places. It is an example of : / FHRCHIIUT TTH RITHT BT TP IT 8| THDT TH IS8T &:
1. Global Developmental delay / 335 faeoTa 7 3

2. Obsessive-Compulsive Disorder/ JJ1-STHR] f[ddR

3. Anxiety disorder / 1 fd®R

4. Autism / 3fifesH

Correct Answer :-

« Anxiety disorder / T1d fd®R

2) In “heuristics,” the child is free to go for any kind of possible rules or ideas to reach the solution. This rule is called as:/ “E‘Iﬁ'lﬂﬁﬂ? N Fome” ﬁ, T
T 9% g F R fpadt of v & wnnfaa Fraw sryar R &Y werar @ 9@ €, 39 o &) 31 $e1 e 82

1. rule of thumb/ ARG a9 (T 1% YTE)
2. differentiated rule/ TaNfed Fram

3. mimicking rule/ 3TJHUT fram

4. cognitive rule/ GTHD g

Correct Answer :-

+ rule of thumb/ 3IHARIG FoH (& 3T Uw)

3) Which is not the step of scientific method? /
e & & -9 e yoreh &1 avor 78 72
1. Experiment / TN

2. Interview / HI&TchPR

3. Prediction /W:[
4. Observation / 3(@H-

Correct Answer :-

o Interview / HI&Tch R

4) According Jean Piaget, children develop abstract logic and reasoning skill during ./
S S & SR, % dR gl A 3y aob 3R dé Bire faeid g 21

1. Concrete operational stage / Tt TfehaTeTds 3wl

2. Formal operational stage / e Tfsharatas srawr

3. Preoperational stage / gd-Hfshareia @i

4, Sensorimotor stage / Ha&! IR& yHEIHIC( AT

Correct Answer :-

« Formal operational stage / e WfehaTerds SiawT



A self - directed learning process is arguably the most powerful model for facilitating and inspiring individual, group and organizational learning and development. It means
learners ___ /

T a-FERE iRy ufthar, safdma, anfe® ok Tre-rars T ok faera &) giawr 3 - Tax wfw=me Aisd 8| 39T aday ¢ f%
RFTpat |

1. take responsibility for learning and become goal oriented / AT Bt ForeRY T % 3R a&th—'ﬂ'@ ST %‘I
2. compete with others / m ¥ Ty gfoeayf Hrar gl

3. achieve the best scores / 35T URUIH U HRdl %I

4. enjoy learning / 31TETH &7 3g A@E

Correct Answer :-

« take responsibility for learning and become goal oriented / SHTTH BT forHeRY o % 3R a&?ﬂ'—a@ﬁ CEGI %I

6) In which stage of psychosocial development does the child feel shame and doubt? / ﬁ%ﬁﬂ?ﬁﬁ e & fog @or d 7= 31 7 @R Tew HegH glar %?

1. Preschool /Eﬁw
2. Adolescent / THRIRTaRIT

3. School age / ¥ 3T
4. Early childhood / ¥ ST STeId

Correct Answer :-

« Preschool /Eﬂw

7) Proper sex education should be rendered at ______ stage. /3fua g fRrem _ AW YGH B S ﬂT%EI
1. Childhood / STeddhT]

2. Adolescence /W?raw

3. Adulthood / 9UIH

4. Early childhood / URTY STedebTal

Correct Answer :-

« Adolescence / fHRIRTaRIT

8) The ‘Hypothesis of Critical period’ was proposed by . ‘wmaﬂuﬁmm' %mmﬁaaﬁnﬁ &t
1. Helen KeIIer/%ﬁ‘[W
2. Noam Chomsky/qﬁw

3. Bloomfield/ M ced
4. Eric Lenneberg/ T YD AT

Correct Answer :-

o Eric Lenneberg/ T IH ‘aﬁaﬁ

9) Who is credited with the concept of Intelligence Quotient (1Q)? / §'@ afsy (1IQ) B AR &7 347 {5 faar \_SI'IT'IT%?
1. Theodore Simon / ORISR WgHA

2. Spearman / ?Eﬁ'QTEFT

3. Alfred Binet / 3ps fo

4. William Stern / faferm =

Correct Answer :-

. William Stern / faferm =



10) According to Piaget, intellectual growth occurs through adaptation to the world. This happens through: /s & SR, a’@ﬁ ﬁmgﬁm *

SIHE &b AT | ghaT 2 1 U T a1y A gar a2
1. Absorption and Accommodation / STRNYT 3R FHH (WQFD
2. Acquisition and Autocorrelation / Tonfe 33? Wd: ggaey

3. Assimilation and Accommodation / STETITHRUT 3NR FHS (Uh[HSTA)

4. Assimilation and Acclimatisation / STEEIEHRUT 3R HJj&p(’H

Correct Answer :-

« Assimilation and Accommodation / 3TN 3R THOH (Uh[HSTIA)

11) According to Albert Bandura, the process that is involved in acquisition, organization and use of information is called process. / 3 m%

TR, T8 UfhaT St GaA1 & SHREIEI, W6 3R UGN # =i et 7, 39 wfshar Hg1 waT 31
1. Cognitive / IJHIH®

2. Affective / THTdt

3. Self regulation/ ¥ T

4. Motivation/ ORUTT

Correct Answer :-

« Selfregulation/ ¥ e

12) What concept of conservation focuses on the amount of a substance that exists? /WWW@?WWMWW&?%WWW%”
1. Weight / duiq

2. Area/ 8%

3. Mass / GIHET

4. Length / TaTS

Correct Answer :-

¢ Mass / %SqHA

13) What cognitive ability are children displaying when they attribute human-like qualities to objects? / T B HHATTHSD &FHT a'-‘l'l'f?%%\_!ﬁ 3 aﬁ&h’
1 AT TN | T fd HRa 82

1. Egocentrism / Gﬁm@ﬁ'@'@\_ﬂ)

2. Conservation / &0
3. Animism / SI1qd1g
4. Object permanence/ aﬁ@m

Correct Answer :-

« Animism / S1daTg

14) Some children experience excessive anxiety at being away from home, even after a long period of time. What might they be suffering from? / & TR

Y TF WA R e & arg ff, WA R 4 W raiies =1 71 sgya #3a 81 3 75 @ ifsa gt awa 82
1. School phobia / ¥ d HifadT

2. Social anxiety / STHIT feid

3. Conduct disorder / 3TERUT fdBHR

4. Separation anxiety / 3¢ IId P fefar

Correct Answer :-

o Separation anxiety / 3{CI¥ITd CHREGI



15) An example of self-report measures of personality is/ HfdTed & STA-RUE SN &1 TP Iqlexul %z
1. MMPI / TrEEdms
2. Sentence Completion Test / amqtﬁqﬁ&rw

3. Rorschach Test / J1ep TRI&0T
4. TAT / & Qé

Correct Answer :-

« MMPI / THUAMISE

16) Intense mood swing is a characteristic of / ?‘ﬁﬂ"&g R e AT %:
1. Learning disorder / 3{fERTH &

2. Bi-polar disorder / %ﬂfﬁ faaR

3. Conduct disorder / 3TERUNTA fAHR

4. Anti-social personality / ST Hfddd

Correct Answer :-

 Bi-polar disorder / %ﬂa’f faaR

17) Which of the following best describes Maturation of a learner? / ﬁ'ﬂﬁf@ﬂ i | '\ﬁ' HTTh ﬁT&ﬂ"’ﬁﬂﬁ ufRuedr &1 '\‘I@ 3BT qufq DIdl %?
1. It is a continuous process of individual development/ Ig fgTd fawrg ot T Hod Uishar %I

2. It is related with cognitive capabilities/ g GIFTHS &I'HT‘ITG?TQ Tafera %I

3. Specific environment is required/ fafRry ardraR & Sazgddr gidt %I
4. It takes place at specific age/ T8 m Sy =i E?R‘IT %I

Correct Answer :-

« Itis a continuous process of individual development/ I8 HfFTTd fApr ot U gdd ufesar %I

18) Which type of memory takes special account of context? / fH UHR HI Wﬁf'\‘l’dﬁ?ﬂ foRiy ea1 vt 22
1. Iconic memory / WfAfgd W

2. Echoic memory / Ufdeaf wfa

3. Episodic memory / Wi S

4. Sensory memory / ﬂﬁ?ﬁ @Iﬁ

Correct Answer :-

« Episodic memory / UTifId Sfat

19) Students who disturb others in a classroom are likely to have type of learning style./ EIGJES DE ﬁmﬁ TR Hd %371%7 LI
TR Bt WG B Jeft 19 F Tyt St B

1. Kinesthetic/ TTfaad} @Sﬁ@ﬁ@
2. Tactile/ TR (éGE )
3. Auditory/ dUl

4. Visual / 9

Correct Answer :-

« Kinesthetic/ TTfa&ae @Eﬁ@ﬁaﬂ

20) Who carried out an experiment on memory involving nonsense syllables? /fram Wﬁi TR TH WA e, R seara g i A2



1. Ebbinghaus / QW
2. Atkinson / Tefdha

3. Posner / GRIR

4. Calkins / PTeifbg

Correct Answer :-

« Ebbinghaus /‘I@:ﬁﬂ'ﬂ

21) Who proposed the concept of zone of proximal development? / Frpey AP & &3 o1 S@URN &1 yard feaa v@m?
1. Abraham Maslow / 3fSTEH A

2. Lev Vygotsky /G ATEDT

3. Carl Rogers / BT T

4. Albert Bandura / GW_CF E\IJU@?T

Correct Answer :-

o Lev Vygotsky / ECEIEUIRSED

22) The spinal cord develops earlier to the heart. This is because of the operation of the following tendency. / ﬁ_d?ﬁ 3’@ ®ad J q@fﬁaﬁasﬁ?ﬁ %I qe =
W & T & PRI ST 8:

1. General to specific / HH J mﬂfﬁ

2. Cephalocaudal / fRiraessa

3. Proximodistal / MRATeTd

4, Part to whole / WFT@TH‘IUTW (Q'I_c;@fﬂ?l)

Correct Answer :-

« Proximodistal / MfAfsTd

23) The following is an example of a secondary reinforcer. / mﬁmmm@m%l
1. Ice cream / G{Tgﬂafm

2. Dress / T=MH

3. Money / 4

4, Juice /XH

Correct Answer :-

e Money / Y7

24) Maladjusted children are generally seen in / TH: WTfﬁﬁrd T u‘s‘fé@m% %
1. Broken family / foav uftar o

2. Rural areas /ITHI0T &3 §

3. None of these /ZTH @373@5 T

4. Poor family / TRg uRaR &

Correct Answer :-

« Broken family / foae ofar &

25) One learns to use one’s muscles and acquires a skill due to: /
TS i, AR BT IUURT BT HRadl @ 3R 3P HRUT TP BIIE UK Hdl 8:

1. Maturation /



BIRCESH|
2. Exercise /
S
3. Learning /
T

4. Parents’ force /

SUTIH! BT TR

Correct Answer :-

¢ Maturation /

26) During the first half of the 20th Century, students, those identified as having special needs, received few or no special

services in the schools.20 / ?ﬂm?naﬁ aﬂﬁﬁﬁ * aTFT, - ﬁ'ﬁ-}f, INGEA qedid fa2iy smazgdar T@A 9l &
w0 A B TE o, 3% Tpdl & $O AT IS ARy Jar 61 fredt R

1. Above average / 9 & 31fid

2. Exceptional / S{ETURUT

3. Mentally retarded / AFRI® €U 4 T

4. Poor / RIS

Correct Answer :-

« Exceptional / SHTYRUT

27) CANCELLED

VARK model of student learning was proposed by: / ST 3IFRATH &1 a1k Alsd 3?%7 gRT yarfad far T ot

1. Kohlberg /Tﬁw

2. Neil FIeming/;ﬁﬁ‘:ﬁﬁT‘T
3. Piaget / st

4. E. Erikson / §. 3R

Correct Answer :-

« Neil FIeming/:ﬁﬁtﬁﬁT’T

28) CANCELLED

During the emergence of language, the ‘jargon’ period is present during / W%W%?ﬁ?ﬁ, “YregolTel 4T JRT> Gﬁﬁlsﬂaﬂqﬁ?ﬁ%
1. Nine months to one year / AR TS I

2. Birth to three months / 57 § H A8

3. Three to six months / T & B: TG

4. Six to nine months / T: § T AEH

Correct Answer :-
« Six to nine months / ®: @Fﬁﬂ'ﬁfﬁ

29) Which of the following is the best way for parents to support and help children cope with failure? /ﬁ'ﬂﬁ'@ﬂﬁﬁ P-4 'FI'R'lT-ﬁ?IT&"RTEIEﬁ
B! e A e ¥ gudF 3 3R 379 Uae F BT W ST BT 72

1. Create a comforting environment for the child to engage in another activity to forget their failure / JADT SIAHET B 'l-Eﬂef & fore o= o) et o wifafafd & g
¥ TP IR TRaT $1 A0 S



2. Listen, empathize, then focus on opportunities to learn, not abilities / g1, Wlﬁqﬂ%f T, iR TR & 3T IR mﬁa’?@ﬁm, 7 fop ermarsi
|

3. Create an environment for our kids that shelters them from potential failure or disappointment / Wﬁ%m@qﬂﬁmmﬁnﬁaﬁ il B%
HHTIIT SrTTerdT AT AR & s=r|

4, Push kids beyond their capabilities / Sl BT 37! &I T TR YhaT T I ST
Correct Answer :-

« Listen, empathize, then focus on opportunities to learn, not abilities / -, Wl_jﬂﬂ%f T, fipR I & TR R W%@HW, 7 fo5 ermara
|

30) Inquiry approach method develops the ability of learners for / T&aT® e¥®Ivr faft & Rrenffal & form & forg e &1 e g &:
1. Using the experience of a teacher /U R&Fd & Hﬂﬂamwml

2. Assimilating more information in less time /wwﬁ 3P BRI Bl AT BT
3. Experimentation /W

4. Maximizing verbal Iearning/m Wﬁm%ﬁmwag |

Correct Answer :-

« Experimentation /T;I'mT[

Topic:- General Hindi (L1GH)

1) yfre T & 78 gfrar &Y srforaw Ry ave oo & 9t g8 € I/ Aefievur a1 iTarsaRE Fed ¥ IR & R urgwiNte $) A argwiee @1
TSHIER ARDT & 1 30 U F WIRIR & $T 3 YRG 3R 39 B3 ¢ & 799 &1 AISHNITE & Airedsr g g & swura fpd o &1 sffvsT &1 wid
T TS 3 ITEIVT & Johdl 21 BIS B PR A9 | gd1 8 3R A7S A g1 PR AP & ford #5320 7o w1l 1 39 3retrar 39 S & R afey fasdt sy o &
Td gl Wi Iee fpdt ofik 371 ¥, wrge, AR o fiRe et 3 31 # o91a 817 | R & @ Taft Urd 3T SrenT 987 §RT BIS Hiek &) Iwig 54 o §, o ue
Y NEH PR T8 et 81 577 Tt frar-svamal & oft gfran & A9R & Sravr a1 819 1 599 ot gfvan &Y arforawar gunfaa giht 31 oma ot Rt o Seure @
T F IR § W APa & et Sare givar & fafim um & giar 81 399 Ay R 31 srforawursil § e ke &1 91 ghar 21

A e b el Uit ®) P S HearT 21 TP Rl uger fdwed 81 b 3ruA 37 § € BT/ Harr S wiel sa! anTd it ettt snrer fawey g &
I HH P! foredt ¥V 21 & FRarn WY, WET SAP! AN F AT 97 A1 @ 1 A oft s R fawe Y g yRa, gafm, 99 ok agam § v ara w9
FIAd IR AN § 3R 37 320 F Aolgy I W & i o1l € 1 3O SIS B A B 8 9Tl & 3R FI B g GATDT 81T 81 SR G 3T BV FRYEY
i §, A SUP $© UIE HARMT 91 aga ¥ 99 81 €, MAWR YR & 997 g1 8 3R Aivedar et A 3imar #1 ifaw Ieure 39 371 F a1 @ SIgl 59 941 ST
21 73 TIOIR B 9T IS IR IR F SUTSIaR Aed! A fhalt Scure &1 @die foran € ofR 9gt 3@ 7 & SRIeR Wud g1 $ THIEAT g, af AL B (U1 e gem
F R PIg 9 P15 G I US| 75l 78 IR & T2 el B AR HIF AT 99Ts o AHdl 21 o F SR H fay Y pa mardt &1 v g fRww A ¢k
YR # ¥ga1 31 B9 & o off wrrt aiftre 3t areelt B 9% 37 <) Heayy! Rl &1 ToRsiere T8 w) awdt|

SUGEH TR B TR A D Y U BT SeR TATYI
URH: HISH AT BT YITerd H8l 82

1. 3R

2. Qe

3. %9
4. 3ealt

Correct Answer :-

2) snyfre w1 & gft gfrar Y srfogawt Ry e oo A T g% € S/ aftavur a1 laenseiR wEd 1 SaTeRvl ¥ R urgwitee 3t fifvie | argwiNTee #1
TSHIER ARDT & 1 30 U F WIGRIR & $T 3 YRG 3R 37 B3 ¢ & 79 &1 AISHNIT & Airedsr g g & swura fpd o &1 sffvst &1 s
TeT TS 3 ITEIVT & Jobdl 21 BIS &I PR A9 | g9d1 8 3R A7S A g1 PR AP & ford #3320 7o w1t 1 39 3retrar 39 Sl & R afey fasdt sy o &
Td gl Wi Iee fpdt ofik 371 ¥, wrge, AR o fiRe 3t 3 31 # o91a 817 | R & @ Tt Urd 3T 3renT 987 §RT BIS HieX &) Iwig 54 o §, o ue
Y NEH SR T8 ot 81 577 Tt frar-samal & ot gferan & I9IR & SravR a1 819 &1 599 ot gferan &Y arfarawr gunfaa ghht 31 oma ot et o Seure o
[T F IR § W APa & et Sare givar & fafim um & g1ar 81 399 Ay R 31 srforawunsit § werR ke &1 91 ghar g1

A T b el Uit B) HIE S HearT 21 TSP ol uger fawed 811 b 3ruA 37 § € BT/ Harn S wiel sa! anTd it smarft| snrer fawey g i
I HH P! fredt DV 21 & FRamn WY, WET SHP! AN FU AT g7 9w | 1 A oft s g fwe ) g yRa, gafm, 99 R agam § v ara w9
FIAd IR AN § 3R 37 320 F Aolg o W & e o1 & 1 3O SIS B A B B 9Tl € 3R P B g GATDT 81T 81 SR G 3T BT FRYER
e §, A SUP $© UIE HARMT 91 agaT ¥ 99 g1 €, MAWR YR § 97 g1 8 3R Aivedar 3MfveT A 3imar @1 ifaw Ieurg 39 371 F 9-a1 @ SIgl 39 941 91
21 7 TOIR B 9AT: IS I IR F SATSIaR Aed! 3 fhalt Scure &1 @die foran € ok 98t 3@ 7 & SRIaR @ud g1 $ THIEAT g, af AL B (U1 e gem
%ﬁﬁaﬁ%qaﬁéﬁwaﬂﬁﬁ@mﬁwﬁqﬁwﬁﬂﬁmﬁaﬁmmﬁaﬂmmm%lm%ﬁﬁﬁyaﬁﬁmmwiﬁuﬁﬁwﬁﬂsﬁ?
YRA F Tga1 31 0 ® S oft et aifires fysst aneedt @ 98 39 Y Heyu SR B TeRSiETS A8l HY Wbl |



IR TR BT UGB -1 YD T Y $T IR garsu|

U= YT YT SUTG AT $H B P T 1 Helt 82
1. 5T81 a1 AT SR 4 T 61 961 A ST &

2. HoIgR] 1 B Bl &

3. B I &1 3

4. TJoTaT § FHS PR §

Correct Answer :-

o g1 e HTet 3R 4 AT &Y I At S 8

3) snyfie w1 & gft girar 3 srfogawt foRT e oo A T g8 € S¥ aftavur a1 laenseiR Hed 1 SaTeRvl ¥ R urgwitee 3t fifve | argwiNTee 31
TSHIER ARDT & 1 30 U F WIRIR & T 3 YRG 3R 39 B3 ¢ & 799 &1 APt & Airedsr g g § swura f6d o &1 sffyst &1 wid
TeT TS 3 ISV & Jobdl 21 BIS B PR A9 | gd1 8 3R A9S A g1 PR AP F o #5320 7o w1l 1 39 3retrar 39 Sy & R afey fasdt sy oo o
Td g, Wi Iee fpdt ofik 371 ¥, wrge, AR o fiRe 3t 3 31 # 991 8171 | R & @ Faft Urd 3T SrenT 987 §RT BIS Hiek &) Iwig 54 o §, o ue
Y NEH BR T18 et 81 577 Tt frar-svamal & oft gfran & A9R & Sravr a1 819 1 509 ot gfvan &Y arforawr gunfaa gkht 31 oma ot Rt o Seure @
[T F IR § W APa & e Sare givar & fafi um & g1ar 81 399 Ay R 31 srdforawursit § werR ke &1 91 ghar 21

A e b el Uit B P S HLarT 21 TSP Rl uger fdwed 81 b 3ruA 31 § € BT/ Harr S wiel sa! anTd it smarft| snrer fawey g &
I FH F! forelt UV 1 & FRamn WY, WET SAP! AN F AT 97 A1 @ 1 A oft s R fawe Y g yRa, gafkm, 99 ok agae § v ara w9
FIAd IR AN § 3R 37 320 F Aolg o W & i o1 € 1 39 SIS B AT B B 9Tl & 3R FI B g GATDT 81T 81 SR ST 3T BV FRIEY
Tied §, A SUP $© UIE HARMT 91 aga ¥ 99 g1 €, MAWR YR § 997 g1 8 3R Aivedar et & amar @1 ifaw Ieure 39 371 F 9+a1 @ WIgl 39 941 ST
21 7 TOIR B 9AT: IS IR IR F SUTeIaR Aed! A fhadt Scure &1 @die foran € ok 9gt 3@ 7 & TRIeR Wud g1 $ THEAT 8, af AL B (U1 R e
F R BIg 9 P15 =T I US| 75t 78 IR & T2 el B AR HIF AT 9gTs o AHdl 21 3 F SR H fay Y $a mardt &1 v Rurg e 7 ¢k
YR & T5a1 71 U F oY off et it st amet @ 9% 391 & W qul aWRT Y e SigTe wTEl X At

IR TR BT UGB - YD T U $T Ik gaTs |
UL BIS PR HUT 301 IR UIEH T &) I W a1 82
1. TH AP T

2. 33N R

3.3F

4. 7Tel

Correct Answer :-

o S-S R

4) Yo wra A i grar Y srderawt R ave 3muw A gt §¢ § 9@ Asfievur a1 wiearge Bed 81 ISRl & R AISh it B difie | Argshiaie o1
FSHIER IARDT & B 1 39 HU & AR & T 3 YRT R 37 B3 =N & 79 §1 AIgwNTe & Airedsr g g & swura ford o &1 sifyst &1 wid
AT TP 3G ISV & Tobdl 21 BIS B PR Aol A a7d] & 3R IS A a1 PR Il & o) #2320} b 1l § 1 S0 Sreirar 39 Hu-i & R diey ol ey s &
Td g7, Wi I frlt ok 371 9, wrge, RaR of fiRe 3t o 31 #f 9910 817 | R & aruer aft urd et SreRT 987 §RT BIS ek &) g 6 o §, fore ua
1Y SIgHR BR 18 W1t 81 371 Tt Frar-saral & gft g & A9IR & sraw Uer g &1 509 Ot g Y erdarawr wifad gt 81 omu off fsedt o Saure an
AT F IR A A GFa § Rt sare givar & faftr uril & a1 1 33 fay R 31 srfegaunsit # weerR ke &1 w71 g 21

A e 5 el Uit F) FIE S HearT 81 SHS R uga fdwed 8N 6 3ruq 321 § & S1H Hamr S Siel 3He! anTd 3ifie ameift| 3nTer fawed g &
I4 FM P! fpalt TN 4 F AT WY, SET 5P AN B4 AT | 98 A1 § 7 B oft o g RAeew &Y gAift | yRa, gaRikm, 99 R agaF § o= ama $9
HHAd IR IUaey § 3 37 3= A Aorgy ft W A e oI § 1 S99 ST 3 O W B S 8 3R S Y JgaR AT gl 8 | S oI 319 $Ig PIeR
Tiiea €, 9 SUS $O U HARMT I7 a15a § 91 814 €, WAWR URd § 97 ST @ 3R WireaaR 3ifvet & 3imar 21 3ifad Saure 39 o1 § a1 @ STel 39 €T S
B T SR & TR e e IR F IR et A fht 3are #Y Wi frar @ 3R a8t 3/ 7 & SRIaR Wud §19 F GUTS 9, @ N B o e sem
P ford ®1g 9 PIE Yo g0 7| fPeft 72 IR # A TTEh] DI AR S At 9T o Fobel 2 m%ﬁ?ﬁﬁgaﬁwanm?ﬁmwiﬁué%wﬁqaﬁ?
YR & T5a1 71 ¥R A oY off el orftres fasst amet 3 9% 39 & W gu! aeiRY Y AR sigre TE FR At

ST TR $ TGN T IS Y T FT SR IA15¢
TR: BIE FT B b R & T 82

1. 0R"

2. TaRga

3. 978

4, qIRFTEA

Correct Answer :-



5) Snyfies w1 & gf gfrar Y srdfogawt foRT @ oo A T g8 € S/ aftavur a1 TlaenseiR Hed | SaTeRvl ¥ R urgwiatee 3t fifvie | argwiNTee $1
TSP AARDT & 1 30 HU F WIGRIR & $T 3 YRG 3R 39 B3 ¢ & 799 &1 AISHNITE & Airedsr g g § swura fpd o &1 sffvsT &1 wid
TeT U 3 ITEIVT & Jobdl 21 BIS B PR A9 | g9d1 & 3R A9S A g1 PR AP & ford &3 3= 7 w1ell &1 39 3retrar 39 S & R afeq fasdt sy oo &
Td g, Wi Iee fpelt ofik 371 ¥, wrge, AR og iR 35t 3 31 #f 9910 8171 R & @ Taft Urd 3T 3renT 987 §RT BIS Hiek &) Iwig 54 o §, o ue
Y NEH PR T8 et 81 577 Tt frar-samal & ot gferan & I9R & SravR a1 819 &1 599 ot gferan &Y arefarawr gunfaa ghht 31 oma off et o Seure o
AT F IR § W APa & Rt Saare givar & fafi ur & giar 81 39 fay R 31 srforawursit § R fAfkar 1 91 ghar 21

A e b fhell Uit Bl P S HearT 81 SHSP Rl Uger fdwed 81 b 3ruq 31 § € BT/ Harr S Siel sa! anTd it 3marft| snrer fawey g i
I HH P! fredt A =1 & FRarn WY, WET SA@! AN F AT 97 A R 1 A oft s R e @Y g yRa, gafkm, 99 ok agam § v ara w9
FIAd IR AN § 3R 37 320 F Aolg o W & e o1 & 1 3O SIS B AT B 8 9T € 3R FI B g GATST 81T 81 SR G 3T BV RS
i §, A SUP $© I HARMT 91 arga ¥ 59 g1 €, MAWR YR & 977 g1 8 3R Aivedar et A amar @1 ifaw Ieurg 39 371 A 9+a1 @ SIgl 39 1 ST
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FH IHFA & O THaH?
AYFTRARAY

B guPd § Ol GHeH?
T AT} B4 St

ST TR FT URT G
Tl W, Bal W, WIT
fraYy guraa & A

T HR AR

P @RIt & gg Earei?
FASUTT AT I §

e durach fFreft

ft e, 37 ol Ui Y
TS H WR WA M2
P! T R PR e
T R BAd1 TP T |
ITE UL F1 UG 12 S W aTd YR BT Ik 9argu|
TR: Y & T8 aR) $I ORE 9 A gUB 82
1. g forg

2. QHGH

3. Ui ferg

4, TeTETYA feg

Correct Answer :-



26) CANCELLED

2nyfre Hra § T g $1 erforaw fry @wg omug & gl g3 & 3@ sfievur a1 ivargeid sed 81 SITEU F R urgsiaie o i Agm e o1
TSP IARPT H 1 30 HU & AIHEIR & T i YRT 3R 37 B3 3N & 779 &1 AIgsNte & Airedsr g g & swura frd o &1 sifyet &1 wid
HIeT TP 3G ISV & Tohdl 21 BIS B PR Aol A g7d] & 3R s A g1 PR Pl & o +2 3=} 7 w1l § 1 50 Sretrar 39 S & R diey foedl emg s &
Td g7, Wi Iee frlt ok 371 9, wrge, RaR of fRw 13t o 31 Ff 9910 817 | SR & aruer @aft urd ST SrerT 987 §RT IS ek &) g 6 e §, fore ua
1Y NP BR T18 ot 81 379 Wt Frar-amal F ot gfran & I9R & e U1 819 €1 599 Ot gferan Y srdoraw wunfaa gt 81 ey off it o Saurg
I F IR A A GFa § Rt sare givar & faftm yril & o 81 33 fay R 31 srfegaumsit # e ke &1 91 g 21

A e 5 felt Ut #) FIE S HearT 81 SHS R uga fawed 8R1 6 3ruq 321 # & S17 Hamn S Slef a9 anTd Sifie 3meift| 3nTer fawew g &
I FH P! fpall TN I F AT WY, WET 5P AN B4 AT | 98 A1 § 7 A1 oft o g RAwew &) gAift | yRa, wafikm, 99 R agaF § o= 9ma $9
Fod UR IUAY § IR 37 330 F Holgy ff v & iy o1 & 1 399 ST Y O U 8 9T @ 3R FI-t Y SgeR GATET {11 81 SR 99 ST $IS e
Tled §, O SHP O UIE HARMT 91 aga & g9 g €, WA YRd § a1 g1 & 3R Aivedaw 3fifveT A amar §1 ifaw Seure 39 331 # o+a1 @ w18l 59 S« sIen
B T SNIR 9 TR e e IR F TR et A fr Iare #Y Wi frar @ 3R 98T 3/ 7 & aRIeR Wud §1 F GUTST |, @ el B oo e sem
P R BIg T P FIoT I US| 75 78 TR # T e B AR FF 9T TGTS o APl 21 IS F SR F 3y Y $a Smardt o1 v urg e i o
YR & TEa1 71 U F &Y off et arfires fasst amet @ 9% 391 < W gyl SIRY B AR sieTe el B Aot |

ST TN P TGP 1 TS T ¥ BT I« T8¢

e, For e ) R Y g 5 g M & et T T R
1. &

2. G TR

3. WA TR

4, R &

Correct Answer :-

. Riew wc

27) CANCELLED

Sy Fra A Tt 3T 1 srfaraw R aXg oo & Il g% & 3@ Afievr a1 WieargeiRH Bed 81 SaTeRvl & R argwiaite B v agwmiaie S
TSP IARDT H B 1 30 HU & WIGEIR & T 3 YRG R 37 B3 ¢ & 79 &1 AIgHNITe & Airedsr g g § swura frd o &1 sffvst &1 s
TeX TP 3 I2TE0 &1 Phdl 81 BIS Bt BIY dg A a7t ¢ 3R IS & a1 1 At & Rl o 0 a9 ot &1 59 3ramar 39 Hu-t & R arey fpedt omg S &
Td g, Wi I fralt ok 371 9, wrge, RaR of fiRe 35t 3 31 #f 9910 8171 R & @y aft urd ST SrenT 987 §RT BIS HieX &) Iwig f5a o §, o ue
1Y NP BR TS ol 81 579 Wt frar-camal I ot g & I9mR & e U1 819 €1 399 Ot gferan Y srforaw wanfaa gt 81 ey off it o Seurg o
I F IR § W GFa & Rt Sare givar & faft urm & a1 1 39 fay R 31 srfogaumsit # e ke &1 971 gar 21

A e 5 felt Uit B FIE S HearT 81 SHS Rl g fAwed 811 5 3ruq 321 § € STH Hamn S Siel 3ae! anTd it 3meift| 3nrer fawped g &
I B FI fopelt TR A1 F FHearan WY, SiEt 3HS! AT HH M 98 W @ 1 15 o e R Ree 1 gl uRa, gk, 99 o argae A v A9rd $9
PO IR IUA § MR 37 330 F Aolgy M W & iy Wi & 1 39 SIS Bt A Y ST @ 3R F Bl g GATET §1aT 81 SR T 31T $IS I

T &, 1 SuF TS U HARMT T A1ga H 99 T €, TR WRA § 91 a7 2 SR Wit R et & e 31 3ifird Seure 39 41 A S § STeT 39 a9 e
B 3 IINIR B aATR”: IS W I9R & SUTeIaR Aed! A fhadt Scure &1 @die foran @ ok 9@t 3@ 7 & SRIaR Wud g1 $ TUTEAT 8, @ SR B 301 e gem
¥ o B 9 P W11 g1 U@t | fvlt T IT9IR | 4 U] B IR BP (et qeTS o Webell ¥ 3T & IR H 3y B 7ot Sardl 31 Uw Hrurg v 9 o
YRA F Tgar 31 ¥ ® S oft et aiftres fasst ameedt R 9% 39 ) Heyu IR @ TeRaiErS A8 $Y wahdl|

ITT TN $ UGHR A1 TR Y YA BT IR I3
US: 3 320 # 3T uiq et bufral or a1 182
1. 3RS T

2. T HI

3. SgRISIY HUT

4, HRAHE Ut

Correct Answer :-

28) CANCELLED

Sy a1 & gff g 31 srdorawt Ry ave smuw & Jet §$ & S8 afieur a1 THiaargoR wed 81 3SRl & Rl Argshiatte & difie argsiate #1
TSP IARDT H §1 30 HU F WIHEIR & T 3 YRG 3R 37 B3 2 & 79 &1 AISHNITE & Airedsr g g ¥ swura f5d o &1 s/fyst o1 s
X U 3 ITEIVT &1 Jobdl 21 BIS &1 PN A9 | gd1 & 3R 495 A g1 PR A1 & ford &5 =0 7o 1ell 1 39 Sretrar 39 Hu- & R afey fasdt sy o &
Td g, Wie Iee fpdt ofik 371 9, wrge, RaR o fiRe 135t 3 31 # 9910 817 | R & arue @aft Urd 3T 3renT 987 §RT BIS HieX &) Iwig f5a o §, o ue
1Y NP BR TS ol 21 379 Wit frar-camal F off gfan & oMk & e U1 819 €1 309 Ot gferan Y srferaw wanfaa gielt 81 amu off el o Seurg o
Ja1 & IR A A9 FHa § et Sare givar & faftre uri & gar 71 T Ry R 3 srforawirsit § e fkar 19w g 21

A e i foell Uit Bl P S HearT 81 SHS R yger fawed 8R1 b 3uA 31 # € ST/ Harn S Siel sae! anTd 3ifie amurft| anrern fawey g &
I B FI fhalt TR A1 F HRaman WY, SEf 3HS! AN HH A 98 9w @ 1 15 O S R Ree 1 gl uRa, Tk, 99 o argaF d s A91d $9
PO IR A § MR 37 30 F Aolgy o W & e o & 1 3O SIS B A7 B 8 ST € 3R F B IR GATST §1aT 81 SR T 3T HIS YR
Tl &, A SUS $O UIE HARMT AT arga § a1 81 &, TR YR § 5417 ST @ 3R iveaar mfvaTt & aimar 21 3ifaw Saure 39 &%1 ¥ a1 § wiel 39 T @IHT
21 79 TI9IR B 9aT”: IS IR IR F SaTeIaR aed! A fhadt Scute &1 @die foran @ ofR 9gt 3@ 7 % SRIeR Wud g1 $ THIEAT 8, @ L B 30T e e



F R PIg 9 P15 =T I US| 75t 78 IR & T2 el B AR HIF AT 99Ts o Aol 21 3 F SR H fay Y $a mardt &1 v g fRww A @ik
YR & T5a1 71 U F &Y off et i st amet @ 9% 397 & W qul 9WRT Y e SigTe STEl X At

SUGEH TR B TR A D Y U BT SeR TATYI
URT: YRA A FT Ty =0 F ugaAmr?

191

2. T

3.3
4. Riew

Correct Answer :-

29) CANCELLED

3y w1 & gf gfar 3t srderawn R ave 3muw A gt g8 & 5@ Asfiwwur a1 iargo Bed 81 I8l & R Argmiaite @ Wi argmiaiee $1
TSHIER ARPT H 1 30 U F AR & FT 3 YRG 3R 37 F5 2 & 799 &1 AIgwNITe & Airedsr g g ¥ swura 6 S &1 sfifvet &1 wid
TeR TP 3] ISTE0I &l AHhdl B 1 BIS Bt B} a9 | aalt § 3R 398 ¥ -1 FR At & ol o =0 a0 el §1 39 3ramar 39 Hu-1 & R afey [t og 3= o
T4 gifl, die Jee forelt ok 3w 9, wrge, Rraw og e el 3 a1 & o1 €t R & vt 9ft U1 (e SrenT 3¢ gRT BIS Hiex &) 9w 5 o €, g v
1Y NEH BR T8 At 81 379 Wt frar-cvamal & ot gfran & A9R & SravR et 819 €1 599 ot gferan Y erdorawr gunfaa gt 21 ema ot fpelt o Saure o
T F IR H W TPa & R Iare givar & faftm um & a1 81 339 Ry R 31 srforawansit & weR ke s1 9 gar 81

A ifore i [Pt Sut B BIE HH HIaHT 81 TP ol Ugan fadped gRm & 3ruA I & € 17 HRaran S gl 59! anTd ¥ a1 rTer fawey g 6
I HH B! fpelt N 21 & AT WY, W1 3P AN U AT 9% A1 § 7 B oft e g fawew &) gAft yRa, gafkm, 99 R agam 8 o= 9 w9
PIId W Iudsy § 3R 37 3= | Toig off a F i oi1e €1 59 ST F A HH B A1 @ SR FI BY dgar GATET ghaT 8| SR 9 3PS FIER
Ted €, o SUD PO UIE HATRAT AT A5a § 99 §1d ¢, MAER YR § o1 81T @ 3R Aiveaar 3MieT A omar ¥ Sifd Iaure 39 3301 & awiel & Sgl 39 a1 S
B1 7 II9R B TR IS W TR F STETAR IEH! A [t Jaure o Witg foram @ ofR 98T 3/ 7 & SRIaR Wud g1 B TUTTHT g1, dl HH-t $1 oo fawma sem
F R BIg 9 I3 AT I US| 753 78 TR & 70 el B AR FIF [T 98TS o APl 21 3 F SR F 3y 1 $a Smardt o1 v Durg ffww i o
YR A ¥ga1 31 B9 & < off et aiftres st ameelt B 9% 37 <) Hewayy! IR &1 ToRaiere T8 w) awdt|

I TR BT UGB 19 YD T Y HT Ik Iarsu|
WR: UTYT 3 F AT 5 URA WM Y ueie Fva 82
1. forp feat iR

2. THYDE TRI

3. FdTS fegeT 3R aret

4. TS 3R Tasit

Correct Answer :-

. Ry feamr iR

30) CANCELLED

3y w1 & i gfrar 31 srderawir R ave 3muw A gt g¢ & 5@ Asfiwwur a1 iaargei Bed 81 I8Nl & R Aigmiaite & Wi Argmiaiee $1
TSP ARPT ® 1 30 U & AR & T 3 YR R 37 B3 =N & 79 T 1 AIgsNTe & Airedsr g g & swura ford o §1 sifyet &1 wid
HIeX TP 3G ITEVN &1 bdl 21 BIS Bl B1Y Aog | aell & 3R IS A o1 s Aeht & R o 320 ap o<t &1 59 3reirar 39 Hu-t & PR afey fpedt org S &
TA B, Wi See 5wl ok 371 &, wrge, Raw o R felt o 31 & o @11 SR & a1Her |aft U1 SrerT ST ASR §RT BIS AieX & W 5 v €, R &
1Y NP BR T18 At 81 37 Wit frar-cvamal & ot gfran & A9R & SravR a1 819 €1 399 Ot gferan Y ardoraw gunfaa gt 21 emu ot et o Saure o
JaT & IR A W Thd & Rrast Sare givar & g uri & gar 71 339 Ry R #Y srdarawyrsit & R flkar &1 s g 21

A Hifore fr fpaht Sut B BIE S BT 81 TP ford ugan fadped gRm fp 3raA I & €} 1H Hearar S gl 59! anTd ¥ a1 rTen fawey g i
I HH B fhall TN I F AT WY, W1 5qP! AN 4 AT | 9% A1 § 7 31 oft e g e &) gAift | yRa, wafkm, 99 R agaF § o= 9rd o9
PId W Iudsy & 3R 37 3= & Toigr o T F e o1 €1 5 ST F A HH B A1 @ SR FI BY dgar AIET ghaT 8| S oI 3T Hig HIex
Ted €, Al SUD P UIE HATAT AT A5 § 99 81 ¢, MER YR § o1 811 @ 3R Iiveaar SMieT A omar 21 i Iaure 39 331 & o=l @ Sel 39 a1 oIl
B1 7 II9R P TR IS W TR F STETAR TeH! A [t Jaure & Tig foram @ ok 98T 3@ 7 & SRIaR WU g1 B TUTEHT g1, dl $H-t $1 391 fawmd sgm
P R IS 9 P13 I I US| 753 78 TR & T3 e B AR HF [T 9918 o APdl 81 3 F SR F 3y 1 $a Smardt o1 v urg e i o
YRA & Tgar 31 TX A ot ot et orftres 3 aredht @ 9% 37 &) eyl IToRY HY AeRaiETST T8 B wwdl|

ITYT T HY UgaR A1 IR T U FT IR aig|
: WRA A e urgTed HIeH $1 Y=o 9¢ 41 8?2

1. 1SS X13Y 3R BT

2. fUrestr iR T

3. Ut AR R

4. TS 3R U



Correct Answer :-

. fos sk T8

Topic:- General Sanskrit(L2GS)

Y sreieeay ey #: fawew: sgdifeaamaed
o oafa ?

. TogAT@T:

Correct Answer :-

2)
oollenl afScar srenfAfdsera geaed qgHc Fadd -
37eflcT I AT, FAR/MEATIAD: |
SFEA T o ST Gal FuLd J2T ||
eI RATT A ol AFAFIATY Arearoigs |
AT GegIT TN SerT sidsiel dIoia ||
Al dcdsl TaeT dareddAd el Hafd|
1. C =
gedidead
2.
3 Ak
SEAdaH
4,



3)

eoliehl Ufscar sreifAfeseea Teaed YgHceR Fad -

37eflcT I AT, FARMEATIAD |

SFEA o ST Gal FOULd J2T ||

HEITAd [RATY A gl AAGIATY Aol |
AT GeIT TFONT el sidsiel dLONTH ||

cdf vg & afea |



UR=de afScdl Ueeed YGHcR FaAd -

TSI AR f&yd o ariorr 3fa uffed) e raA sifdera
Frefl, §aRE ar| IS gfaA afor RUSAET 5 9T FAfauriET|
W@wmﬁﬁmaﬁ|mﬂﬁw2ﬁ M| siegersar
IGIEGIE a@:aqjﬁaaﬁmﬂmﬁrl stﬂ?ﬁﬂ%m:
GEded| AT TN HIETEE  $edied| faeaarrer ufdd gavied
3099 facad| seanfa 3T sgfa donfeeufor o 3 @fed) qud T
ufdfes ATAVT: 37 3NTcT HoTach: [dedeaTEd IRTe=AT Hdfod |

5T DRI $TRAET U W= faegmhegs 3110 31|
HEIYATAIAAT: 3T Eel W fdegd| 37=can: gfosdar: a3t facer o
AT YTASST Felecl| 3Helch HGIIRWT: 37T 3T ATeTelle] weaded:,
FIHIAET gede TR S8R T fafgdded: | Ho0Edus=l I :,
IS §G:, SIIGIe: ASPAR:, TANAeG:, JAUIGN:, heaNaNT:, 38 °
d8d: TR 3T T T | AGTAGAATAI A HEATTA:
Teoqfacatacarer:, aepaiaeaideare:, ®reil-faeadis o A= Hd
faferserfa o= HecaT|

AaTeIaeTH 37T AT -

) q}—znﬂa?-gmr:

Correct Answer :-



oreft
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Correct Answer :-



9ol ufscar sreanfafésesy ey ﬂaga;cdi qad -

37eficT I AT FARMMEATIAD |

SFEHAC o ST i FATH I ||

FHEITI ThATY AT GO AAGTFIATT A onTH |
AT G I TAON SforaT starstel qofie ||

ANIA: TAd EROH |



URTSE ufScar Yol YgdHc’ Faad -

YA ATdICTAAgS ATH Teh: RIRANIT: dTeehlel: Jadd| T: TEITA:
faferdcar eeTeaeT qeW: M| 9T I T SidTelelleitd Sied 3787
STATEXET AT A TaEWTAT eanffer Tagerstaar o Afger 3mdal Rar
STaTe T eI Teh UUsde Ueh o FHiedl fAolddlel] Td dled Uq
3t fgedrenTsi, JHiToTsAINT 3GNT o YIUcd fadlddiel| TR STare:
SToUsS UitTalssTad| ax &4 facarery srat femaesial aF o IRE
uedl Ireardl AR idfeided: | 379 o [AfeaagRar®uor areeplell &l
FIIANAT| TAET SNaered TJGATIOT 3TiTelleli HRIENSIT
ST | FIAIgEear Avorerecar fafdeseiasaes, Hefaar,
TICUAHFAT T 31 ATAET RO HEIAGY IReTfora: 3rerad) st
FARTCHRTE: TEfIST: 3TTHI| AT Fade FINAET TUATLAHAT
3THIC| 3T HETol AWeIseTac| A, fUd: garor g afvarhy,
HRAEAT-AYUTH- ST Tl i@ariel qedaerisl faeafasarasas)
¢R€2 A ¥ AT HRAGUH 3Thledded:| alg dIed STaRelTel:
HEHodCd: 3787dc| 38T HEIISaET RRIed: g&IUN0T 37dc| fohed

HifieT ¥ Shafd scgealicar @ SR $fde 3Ry wredars|

STaTg U 0T 3ATHeA-
. ITcATRET, RidAcere:
,  FEEETE faremEreea:
| Trfcaagte: quamEa:
, i fersie s

Correct Answer :-

CIECIERCL DR IR N T GO



sleaad

4.
Correct Answer :-

12) .
Yol afScar eNfATESerT Teaed YGHR FIId -

37l TR deTe] HEREATIARLT |
SFEHACd o STl Gaf FULH I ||

HEI T AT AT Ul AAGEFTATT Areeroiigs |
AT GEgeT TN elierT s7arsiel Lo ||

ST dIFT AARONTH |



TR=aE afScdr T AeHcH I -

dgeUEl: Aed T8Ud R GroNr sfd ufledA| 38T WA AU
Frefl, SERE arl I 9fdy Fo fGUSAET $F A9 sAfavrE)
aRURT Ueh Hgd, e add| 3ed AfgaAr @d: dfd) eerse
fAfAdr: ger: 3qgRT A gRIEd| AUHOIETE A T uGT:
CEdwl| SHAT I AHgedd  wudfed| faegary uidd gaviAfeed
304 fagzd| searfa 31T sgfa confeeufor @ 3 dfedl qud Fm=q
uiciea FMA0T: 377 T sToTach: TaRaRaey 3R Hfod |

5T AR RATT UG W= fdegmhegs 310 317Ed|
CIGATEATTAAT: AT GreT I fdead| 37car: qfvsarn: o fager =
T UfdSaT Foocl | 3elch HETRNT: 374G T FAlTS Srectaed:,
FFHIET fgede TaR 989R 9 fafgaasd: | FogdurEr @,
HITAI 9, STITCIre: USHIART:, THAG:, JeHIGNT:, SHIRGRT:, T
J8d: TR 31T 30T 37T | AGAAIGAATAA I FEATUd:
feeqlaraiaearer:, aepaiasaidegrod:, Hrefi-faeamds o A=
fafarserfer smevureaTfa Heca7|




eellenl Ufecar srenfaféseea vyeasy ?_Lagdgcdi I -
ST TS eaiaTaTdsT ha2l: I 8¢ |
e | o
I g HATICTTAT U8 T 418 T |
VFT Fol GHATTED El'c\’aqﬁ?raé?»ro |
dEATd Vo Ui fod T6 TSeiedvoT: |

HAGIET JolfdcH 3AfEd |

® eclit afsear renfafiscrr geted e gaad -
STeIfeeg fTdTcleT Sharel: Jid oe: |
H &d: AIfAeITT Ty T a8 T |
VFT ol FATSTEY dcelld J gorel |
aTATd Vo URifed 76 IS e yoT: |

371l UhRUT HAm: He: qc:x’j?fl

ST

3GIH€I'RTIT



STolcean

Correct Answer :-

eellent GfScdr reNfAfisera Teaed YGHe Fadd -

dwﬁrgﬁmd‘ﬂ L YA ©e: |
8 FATAcTT UH T T €8 T |
VFT Il AT aa’aqﬁﬂaéﬁo |

dEAT VT U Ted T¢ USeigdNoT: ||

PRI SIET TAIIGH SGHTE |
. i%f—\iﬁulz crc)

2. gc:
, WA



eallehl gfecar srenfaféseea yeasy gﬁgcdi g -

STeAfSeg AUl shael: gid 6e: |

T 8 AATdedIEl T T a3 T |
U ol THATSIEY cIeelld T oo |
dEAT VT URiEled T¢ USeigdNoT: ||

CFgH Ud uRrEfEd |

® ol gfscar senfafisesy yeaey YGHcN FaId -

37eficT I AT, FARMEATIAD |
SFEHACT o ST adi FALH T ||

FHEGTAI fhaATT AT Gl AAGEFIATY Aol |
AT GeIT TN SerT s1dstel ORI ||

TONIH’ 3T g Hafd|
I.Q =
5|

A

3.

2



o=

4. ~

Correct Answer :-

? ofede afscar weAEd AEHcH I -
AT ANAIATAEE ATH Ueh: FHIHIIT: rehlel: AT T: TEIT:
faferdcdr eaTeaRT qeW: M| 98T ¢ U9 SidTgelloitd Slod 3787dd|
STATEEd AT A TaERIAT aiffepr Taeerstaar o Afger 3mdql f&ar
SAATEIET e Ueh 9fUsdd Ush I HAledl odloiddlel] Td sy Ud
3718t fR=Eremsi, TSNl 3G3IST o YITued faelcdle]| STUTIETY Sare:
SToluseel UiUIalsstad| aF g facarery 3rat femaererdl aF o SRTx
dedl WrearEl R idfged: | 319 o fAfIcgagRa®qor arehrell #car
FIANHAT| TAET SNGeEd AJGATHOT 3eAlell HRIENSIT
SN Al-asde] | TaAIageear STl fafdusmaiasaes, Heiaar,
TICUANFT T 3T FHERT ARAET HEIoIY TREO: 3re7acy| 3t
HGTCANTY: TSy | AR T TARAET TAATETHA
3787ac]| 376! HEle S@RIsHAd| JHTcHSAT, U g=1for g3 ufdaria,
ARAEAT-AYUTH- S Tdfea@drfe qedeia faeafasaeasras]
¢Re dH ¥ AAGMAT: STRAGAH 3Tehlecided:| gl e STaReTd:
HETHodtc: 378Tdc| 3T FEIISTaET RNIed: FEGIINOT 377dc| foho]
e @ Shafd’ sgFalican @ sIRA sfdg@ 31eRde redars|

SATEET ATAT TaEWAT seeil -

) T TR

Correct Answer :-






IRTSS ISl TeAET qEHcR I -

YA ATdITAARS ATH Teh: FIRANIT: dTeehlel: Jadd| T: TEITA:
faferdcar ueaTeaed qeW: Al 9T I¢ T SidTelelloitd Siod 3787
STATEET AT A TaEWTAT anffidr Tacersraar o Afger 3mdq) far
STATe e T Teh UUsdH Ush o FHiedl fAlolddlel] Td dled Ug
3t feodTenTsl, JHToTsAIST 3GST o YIrucd fadlddiel| TR SareY:
STUSSY UTUIalssTad| a= & facarery 3rat fQemaesal aF o IREX
gedl JrearEl $TRd idfaged:| 319 o fafeaagRar&dor arehrell #fcan
FRIANAT| TAET SNaered TJGATHIOT 3iTelleli HRIENSIT

S asde]| FaAageear svorerecar fafduseidsrsaes, Heiaar,
TICANAFAT T I FHERT ARAET HEIoIY TReATOI: 3e7ac]| 3t
FRICHRTY: TEfasT: 3MHI| AT FadeFINAET TUAATUAHAT
377ac| 3Tl HETel SRgeplseTac| 3MTcHh, U Taror g3t aisarfa,
HRAEAT-AYUTH- ST Tl @il qedehriel faeafasarasaH)
¢€2 dH ¥ MATCMAT: $TRAGAH 3Thlecided: | gl dIeT STarelTd:
HETHodCd: 3787dc| 3T HEIHaET RRIed: gEIUN0T 37dc| fohod

PfIE & MNafa saFadcar @ R 3fery 3rug Jredar|

A TReSe TRt sfa yeA 3ifeAwaTel ggeaatea-



RS Ufdcar Teasd qgHc Faad -

AT HAldlellellg® ATH Teh: AT dlarhlel: Jadd| I: J&IAT:
fafrdcar eaTeaeT TeW: Il I8 ¢ U9 SidTeelloied Sod 37e7dd|
STATEET ATAT AT TTRAAT ATfHST TaGeUsTFar I Afgerm Al fUar
Stareey faremd weh uftsadq ue T Hiedl @Aifadan| v aedr wa
38T fReTenTsT, TSNl 36T o JIrucd 3faelcdiel| STHTNET Sarel:
gToussel Uftiarsstad| I & fagarey 3@t femseerdl 97 7 ST
gedl Weardl AR idfeded:| 3719 < [qfdlcaagRai®uor areehlell s{car
HAANAT| TAET SNaeled AJGATHITOT 3iTelleli HRENEAT
AT | FIAIgELaT svorerecar fafdersetidaeiees, eid,
TICASTFAT I 3l FHAEHT AR HEIAY IRAAOT: 377ac| 3@t
FETCARIEE: TEfersT: 3MHI| FAETHRNsT Fade AR TAATLHHAT
3787acl| 3TET HETel, AWeIseAad| 3TeHesha, U g=for g3 uf¥aray,
ANAEATANUTH- S el JEdhfal faeafasidreasias|
¢REQ TH Y AIAICRIAT $TRAGH 3Tehledded:| Qg dIgd Saralrd:
FETHeC: 3T8Tac| 3T FETIaEy RIec: FEIRIOT 3737ac| fohe]
HITIET & Safd’ ScgFalicdr | R $idgd 37U gredars |

STaTeREd U giea: o -

, TereT

Correct Answer :-



dc9oy:

4. =

Correct Answer :-

® et afsear senfAfiscrr Teted el qaad -
EEIECADRICEETNM UL Rz
& FATHCITAT T T 9oy 1|
VT Sl TATSIEY cIcelid T geer |
aTATT VT yeiEafed ¢ Tsefed ™o ||

fegmenRtefer g Jar ywred

1.
iercled

2.

5 SHHA:

d>de1ar

4.

Correct Answer :-

| ShHART:



uRed afScar T AGHR A -

aToR: Al fud AR GRorr sfa ufagdA| 3 3AHA AT
Hrefl, FARY dTl ST Gfad Pl faUeAET $¥ Al stfaurdE
IR Teh #Hgd dId¥d=l dad| 367 Afear @d: ) seperser
fAfAdT: e YgART M uRIfed| AfOIHROIPEE g =T G
SEded| ARG IR HETeEH  $Udiocd| faeaerrey gfad gavied
3049 faggd| arfa 3T sgfa qaafeeion o 39 dfedl qud T
ufdfes RO 37T IPIT $797ad: faRIATTT IRTAT Hdfed |

5T AT ARAET UG Qe facarhega 3 31|
HEIIATEATTTAT: AT GTeT I fdead| 37car: qiusdar: ¢ef fager
T ufasar dsfed| 399 HETGET: 373G 3T AT uredded:,
Fahrale [agede TR TR T [afgdasd: | $UEIUR—E! SE:,
Tl 9, STITCIre: SHIART:, THAG:, gmﬂqlﬁ:, HERGHE:, A T
Jgd: TR 317 30T 398 | AGAAIGTHTd sl FEATUA:
fRegiaeafacarers:, HEpdideaiacrery:, HRl-fAeardis T A= Fd
faferserfar serSure=IfT decaa|

Hdl: TFOT aET 3R ?
_ Ioe-g16eT:

3T

, &

4 §- I

Correct Answer :-



aRToe afScdr 99T qEHcR T -

AT ATATATIAEE ATH Ueh: FIANIT: qiaFhlel: AT T: TEIT:
faferdedr gegaed gew: | 9T I Ud STamglcloy Sied 3e7dd|
STATEE T ATAT AT TaERTT enffier Tacerrsar T Afgem 3mdal far
ATy fAgmee veh ufisad U 9 HAledl [@difoiddle| Td aed Ud
3Tt fRwEremTsl, TN 3G o Farued faeadle]| STHTRIET Sare}:
STausey ftialsstad| aF & fAegrerd srat fagmeestal a7 g R
gedl Ireardl SIRA Sfdfaged:| 379 o fafcgageraaor areehrell s{car
FIIAREAT| T STeTEd TJEATNIOT HTelledl HRESIT

A Alea9ds]| FTATGEEAT ATl fafderfetidaateeis, el
TICAHFAT T 318 FATATT AT ATTAGY IR0 373ac| 34t
HETCHATIE: TEisT: 3| HATHAINST FadeAARTET TAATLTTHAT
3787ac]| 316 ABle] SgeplsHdd| 3fcAme, U g=1for = 9f¥afa,
ARAEIAYH- S Tt @dia Gl faeafdsdeaside|
¢RE TH aY UATCIAT, ARAGRH, 3Thlecided: | Gl dIgd STaRerd:
FABTH-C: 3787 3T AGTIATTET RRTec: FEIXINOT 37e7dc| oo

HIET ¥ Slafd’ ScgFalicar ¥ AR Sidg 3{AUE Sredars |

TARY TRl TN STATgIelelsl ATdaldl-

, =



URTBE Uidcal Tl AgHcel Jadd -

FGEUEn: 72 fad 9 ‘qrorer sfa uffedA| a3 sifeume
Fl, SARE dTl ISR giad Fel fAUSART 57 Ay st
Wﬂﬁwmeﬁvﬁmaﬁmmﬂ%mﬁ M) seperser
fAffarn: oer: 3YgAT Al uRATed | AOTRTOIEREE g JE LT
GEdedl| SHAG I AgsiEd  deried | faedsrae ufad gaviafeey
3749 faggd| wana 3T sgfa qaafeior o 3 dfedl qud Tameq
vfdies AMAVT: 3 INTCT oTacl: [aedeaTEd IRTAT FHfoc |

5T AASRT TRATT 9Rg JUd= faegmhega 31T 31fed|
I AT el GFT faegd| 3rcam: gfvsdan: ¢ef fager =
I Uil T | 3elch HEIINT: 37T T AlTele] Srectded:,
IR Fgede TR Y8R o fafgdded: | SHoedur=r A,
HITAT, 95, ST USHIANY:, JTHeG:, gmﬂw FARGE:, 3 T
989: ATOET: AT T T | AGAAIGAATId R FedTud:
feegiaeaideare:, Gepdiaeaidegre:, Hrell-laeadis o AT Hd
fafarserfar strervoreaTfa decaa|

3IATET Regiasafdegroaey Famms: -



TRede fdcar ge=ed AgFHcc I -

3IEToR: ALY fUd IR IR sfd ufdgdA| 39 3ARHA AT
$rell, SEIRE Tl I UfdT Fol fRUSART 5T AR AT
Wﬂﬂwmé’rﬂ?ﬂmaﬁmmﬁ%mzﬁ M| 3fearset
fAffar: agn: 3qdAT e urAfcd| AfORTieEE gqud e
CEded| AT 9N HETedd  $udiod| faeaenery ufed gavmfeal
3049 faggd| ana 3T sgfa qaafeeior o 39 Fiedl qud g
ufdfesT RO 3T IRICT 797ad: fGRARTTET JRTErAT Fdfed |

5T AN HRAET UG Wi faearhega 3 31fed|
HEAGATEATTAAT: AT Gre YOI fdegd| 3car: qfusdar: ogr fager =@
AT UTdSal ofsfed | 3Tadah HETTET: 33T 3T AT uredded:,
TIHRIEAT FAGIedlaAl T 98- < fafgdded: | HSoedurae «ame:,
AT G2, STIEIE: USHAT:, JHAG:, JerHIer:, hRar:, I T
9gd: 3R 31 30T 3{a8e| HAGTHAIgAATd e HEATI:
feqiaealderer:, SEpdiasaidedrerd:, wrRil-faeardic o AT S
faferserfsr mervurea=e Heca |

' Fgd: 3T 3T 3T a8 31 PeodueHEd -
I=E]
2. o

HETeT

=T

4.

3.

Correct Answer :-



Correct Answer :-

Topic:- Mathematics (MAT)

1) Which one of the following statements is true about integer? /

FrafafEd ¥ @ S19-1 $3= e & 6y § 99 22

1. On multiplying any integer with 0, we get 1. / 0 % 1Y fit +ff quifes Y oM A WR, &F 1 U el B

2. On multiplying any integer with its multiplicative identity, we get 1. /ot oft IIUTT?? DI 3D ONHD TTHD P 1Y 0T B W, §H 1 T grall Bl

3. For every integer, 0 is the additive inverse. /WW%%’Q 0 waﬁw ufaaw %

4. On dividing any integer except 0 by its additive inverse, we get-1./0 Pl BIgax fah oft EI;UTW P TP AT Tfaens I fIHTR 33 W, 59 -1 I g 8|

Correct Answer :-

« On dividing any integer except 0 by its additive inverse, we get -1./0 Pl BreH fa off W B ITP AT Ui | fIHIRId H37 W, 88 -1 I gl /1

2) If an amount of Rs. 1368 is distributed amongst 24 persons, then what is the amount that each person gets? /
afe 1368 FUA B 4=RIRT 24 Al & St fyafka F a1t B, o vl afF o) frait af fradt 32

1. Rs. 122/122%4¢

2. Rs. 53/53%0¢

3. Rs. 153/153 30T

4. Rs. 57/57%U¢

Correct Answer :-

e Rs.57/57%Uq

3) A figure on a graph sheet covers 12 fully filled squares and 7 half filled squares. Find the total area. /

T I Mt TR TH BT 12 T & Tt g A HRaT § SR 7 a1 1 3141 WRe ¥1 o &A% F1d B

9% sq units / Q%Eﬁ”f THE
12 2
, 13 L sq units / 13 2ot g
X 152 sq units / 15 2 aef swrg
4. 19sq units/19ﬁl11c3?b"l'$F
Correct Answer :-

152 sq units / 15 27t g

4) A floor 4 m long and 3 m wide is covered with square tiles of colour blue, green and red. One-fourth of the floor is covered with blue tiles of side 10
cm. Another one-fourth of floor is covered with green tile of sides 15 cm. The remaining area is covered with red tile of sides 20 cm. Find the number of
blue and red tiles used. /

4 ez a1 3T 3 Hex a1 Te B 9, Y 3R AT T & WIBR ergal | ahT §3T &1 BRI BT TP TUTE W 10 it B Yorr arat il g et F o1 g 81 i &1
wgﬁu@mﬁaﬁaﬂwaﬁsﬁﬂaﬂmﬁ%mgmélﬁwﬁazoﬁwmﬁmz@%mg&n%lwmwﬁeﬁvmaﬁﬁﬁm
EUCK 2]

1. Blue = 300, red = 150/

et = 300, M€ = 150



2. Blue = 300, red = 200 /
e = 300, T = 200

3. Blue = 150, red = 300/
=T = 150, T = 300

4. Blue = 150, red = 200/
=T = 150, 9T = 200

Correct Answer :-

¢ Blue =300, red = 150/
e = 300, T = 150

5) Ages of Rahul, Rohan & Ram are 10, 6 and 13 respectively. The sum of their ages will give Rajeev’s age. Suma is 5 years older than Rajeev. What will
be the age of Suma after 3 years? /

g, g SR A T 3T HR: 10, 6 3R 13 T TP TG BT T i Ft Mg 71 AT, Tfta A 5 996 a1 71 3 auf a1g Gar ot g fertt ghfte
1. 34

2. 30

3. 29

4,37

Correct Answer :-

. 37

6) Another name for Formalism is, ./
TREUATE (WiHfere) F Rig ema AW 21
1. Abstractionism / 3“1??&5@ (ﬂa@awﬁaﬂ)

2. Deductivism / fesfaefasq

3. Logicism / T HAHIOAIG (AT cheH)

4, Induction /g@m

Correct Answer :-

« Deductivism / fSsfaefasq

=x"+ax+b 00 2 and -3 then ® and P are: /

R ague PY =" T Do -2 oie -3 B, A 0w PR

1.58&-6/5Td-6

7) If the zeros of the polynomial p(x)

2.5&6/5Td6
3.586/-5Td 6
4,-58&-6/-5Td-6
Correct Answer :-
¢ 5&6/5Td6

8) Which of the following explains the commutative property?/
Fafifae ¥ @ SiH-a1 FufafE 7o $ aren Fve 82

1. 103 + (25 - 35) = (103 + 25) - 35

2. (atb) = (bt+a)

3.35-22=(22-35)



4. a(b+c) = ab+ac

Correct Answer :-

* (ath)=(bra)

9) Which one of the following statements is correct about number? /
Frafafed & & $19-9 $3= Sen F Hdy § 9 3?2

1. Every number is a factor of one. / TS BT T 61 °edh gidl %I

2. 2 is the only odd prime number. / 2 THHTA faww sryreg W%I

3. 2 is the smallest prime number. / 2 TR B GIHT@JQ'@JT%I

4, One is a prime number. / 1 T U T %I

Correct Answer :-

o 2 is the smallest prime number. / 2 e BIE G{WQ@T%I

10) A frog falls into a well of 12 meter depth. It tries to jump out. Each times it jumps up it jumps as high as 3 meter but slides down 2 meter because of
slippery wall of the well. In how many jumps will the frog reach out of the well? /

T Hed 12 e TeX TP 3T & FRar §1 98 a1ex e 3 IR o3 ¢ | Tde IR od I Fadl ¢ af Ig 3 HIex SR Ugd 91l ¢ afd St & fewer areft
IR F PR 2 Wex == fraa o1ar 81 $U F 967 e & [T Hew & fFa-il IR Bear u3m?

11) 14 ALMN 2 M=70° and LM=NM. Then 2 N= /

ALMN &, +M=70°td LM=NM &, al zN=

12)  Which of the following is not the solution of the equation yzgx+5”_’ !
PEAEE & & FTE T y= LS H 6T A 8

1. (4,19)

2. (-6,-16)

3.(-12,-37)

4. (-8,23)

Correct Answer :-



If;—!—%:l)andax—by:a:— b? thenx &y =2 /
'J%E-I—%=O'E’Ei’ax—by=a:— bg, @ xTdy =?

_ae®+b%)  bla*+1b7)

1 a?-b* a®-b*
£ alia"‘—b"‘) . bl:bi— a"‘)
T at+b? WF= a*+ b2
2.

3. x= a(a2+b?), y = b(a>-b?)
4. x=a, y=b

Correct Answer :-

s al:a"‘—b"‘) - bl:bi— a"‘)
T a+n? V= a’+b?
14 s
) Ifx+£=Zthenthevalueofx—ils:.-'
x &
A x+- =28, A x> F A &
1.2
2.0
3.-3
4, -1

15) Find the number of line segments required to make a honey comb structure with 20

compartments arranged linearly? /
YaF w0 ¥ wafwa 20 sl drel UF AR AT FAS F [FU €ETF
t@@st $r gedr Ad 2

1. 100

2. 105

3. 101

4. 120

Correct Answer :-



2 ||g and I be the transversal. #1=61° then £2=7/

p |lg T v o X@m §1 21=61° §,47 £2=7

"y

A
[

A

5 118°

3. 60°

a 119°

Correct Answer :-

119°

17) ' In a parallelogram ABCD if ~ CDB=45° and # DAB=65°. then ~CBD =7/
TF AW agsel ABCD#. afg £cDB=45° 3R ~DAB=65°%. d ~CBD =2

a 70°

Correct Answer :-
70°

18) A number “a’ divides 1320 and 781 exactly. Given a#1, then the number “a° is not a factor of

i
TF HET ‘2’ 1320 3% 781 @ qUia: fRenfoa aedY 81 a1 e R 8, &Y "ear o

I gea AT Bl
1. 2101
2. Itself / WG
3.539

4. 125

Correct Answer :-

19) Ip atriangle ABC if ZCAB=70°, and AB=AC then +B and 2C are /
uF s ABCH, afg LCAB=70° IR AB=ACE, dl 4B 3K 2C¥:

80°, 80°



4 20°, 80°

Correct Answer :-

20) qpxde 2o Jafe EE2 R g x=

3-9x 3 3-9¢ 3
1.2
2.1
3.3

4.4

Correct Answer :-

21) Choose the number divisible by 9. /
9 ¥ favfora 819 arelt Sen &1 997 S|
1. 9987123
2. 3425816
3. 6789548

4. 4536279

Correct Answer :-

e 4536279

2 2
22) Eind the value of m, if one zero of the polynomial (m? +4)x” + 65x +4m g 4o reciprocal of the other: /
2 2 9
afg ggug (M” + Hx* + 65% +4m g1 w YIS 31T BT A B, A m BT A T B

1. V2

— 43 2 _ —
23) Find the value of m if (x-1) is a factor of P¥) = *° +6x% —2x —5m.

gfe PO) = x% + 657 — 2% — 5M g1 g (x-1) , @ m 19 A B

4.1

Correct Answer :-

24) Find the whole numbers. / QU T&IT 19 H |



16 x 8725 x 625
1. 87,389,600

2. 87,250,000

3. 83,760,000

4. 87,110,000
Correct Answer :-

« 87,250,000

25) James is inside an aeroplane flying at a height of 7000 meter above the sea which is below sea level at a level. At a particular point, it is exactly
above a submarine depth of 1/ 6t the height of plane. What is the vertical distance between James and the submarine? /

W TF FATSETS & SR § ot I 99 & 7000 WeR HY FHAE W I 61 81 TF AR g W, 98 0o wigsdl & & SW 2 N garseie™ & 1/6 a1
1T Ws a9 & 9 ¥ 1 O U9 wgs! & A SHeafer gl fbat 82

1. 8333.33 meter /8333.33 HIex
2. 9166.66 meter / 9166.66 HIcX
3. 9333.33 meter / 9333.33 HIcX

4. 8166.66 meter / 8166.66 HIex

Correct Answer :-
«  8166.66 meter / 8166.66 Hiex

26) Anil is 6 years older than Akhil. Akhil is 36 months younger than Vijay. If Vijay’s age is taken as y, then age of Anil is: /
3 g ¥ fJa | 6 af 7e1 81 3rfew oy ¥ fawa | 36 wEH Bier 81 ufe fava #Y ey y & =0 # off Wt €, < aifvra &Y g 8:
1. 6(y-36)

2. 6+(y-3)

3. 6+(y-36)

4. (y+6)

Correct Answer :-

27) If 76x — 189y = -37 & -189x + 76y = -302, then find the value of x and y. /
Tfg 76x — 189y = -37 T4 -189x + 76y = -302 §, dl x Td y & W [ B
1.x=-2,y=-1

2.x=-2,y=1

3.x=2,y=1

4. x=2,y=-1

Correct Answer :-

e x=2,y=1

28) ‘Mahabhaskariya’ an astronomical work completed in eighteenth century is written by: /
HRTHRST’ SreTed! Rraredt & yut favar wan ves wivelta &l § ot g1 fora war 81
1. Aryabhata - 11 / \’rl'l'fﬁ-{:‘g' -1

2. Sridhara / Lty

3. Bhaskar Acharya / HIRR S

4. Ramanujan / XTHTIS

Correct Answer :-



o Bhaskar Acharya / HIRhR 3T

29) _ arerelated to growing plants. /
3a el & Teifta &1

1. Natural numbers / UWWTQ

2. Real numbers / AR G&TT

3. Fibonacci numbers / WWTQ

4. Rational numbers /uﬁfﬂm@m

Correct Answer :-

« Fibonacci numbers / WW

30) The length and breadth of a cuboid is 12 cm and 9 cm respectively. If the total surface area of the cuboid is 678 cm?, then the height of the cuboid
is: /

TP 1Y B aTS 3R AT hamn: 12 It 3k o F7ft 1 afe o1y &1 qdig &wd 678 T2 §, o) wATH B HATS 8:
1.15cm/ 1594

2. 11 cm/ 11 3

3.6.cm/ 6 A

4,21 cm/21 et

Correct Answer :-

o 11cm/ 113

31) The sequence of steps for mathematical modelling is:
1) Understand the problem.

2) Mathematical description and formulation.

3) Solving mathematical problem.

4) Interpreting the problem and validating.

/ TiOTe wferegor (dtsfeT) ¥ fRre =a=oil T SrgHH 8:
1) U%/TqHEd Y US|

2) TR faaror o GEHiwn

3) TR Ws/THATS BT JHTYT HRATI

4) U /HARUR B SRSAT HAT 3R ARG B
1.3,2,1,4

2.1,4,3,2

3.2,1,3,4

4.1,2,34

Correct Answer :-

32) The main body of the lesson plan is based on the Herbartian principle of: /
TS TYSIT BT T HIT ¥ g Rria W= snerfa 1

1. Presentation / W

2. Conclusion / Eisad

3. Introduction / ufeg

4. Association & Generalization /ﬂ'ﬁf GﬁT TATIBRT

Correct Answer :-

o Association & Generalization / fyr 3?[? AT BT



33) simplify:- 39y3(50y2 — 98) + 26y (5y + ?) /

WAy 3977 (50y% —98) + 26y*(Sy +7,
L. 2y(5y-7)

2. 3y(5y+7)

3 Gy -7

4 296Gy +7)

Correct Answer :-

3y(5y —-7)

34) Two triangles ABC and DEF are similar and the ratio of their areas is 25:9, then the ratio of their corresponding sides is ./

31 YW ABC Td DEF THY § TUT 1% &6 d $T 3UTd 25:9 B, @t 3AP! TTd Yoirait o7 gt |

35) If mean and mode of a data are 11 and 8 respectively, then median=____ ./
Tf U SfiwpsT & AT 3R IgaP UM 11 YT §, A WfysT=_ I

1. 10

2.11

3.8

4.12

Correct Answer :-

36) In a parallelogram ABCD, DC = 16 cm. If the altitude corresponding to the sides AB and AD are respectively 8 cm and 10 cm, then AD=___ ./
TP JUHIR 9g4sT ABCD #, DC = 16 YW 81 i HITd YoITE AB TUT AD Bt FaTg pu=: s AW AT 10 W, TTAD=___ |

1.16 cm/ 16 S

2.12.5cm/ 12,5 9wt

3. 12 cm/ 1299t

4.12.8 cm/12.8 ¢l

Correct Answer :-

« 12.8 cm/12.8 91t

37) The mean of 25 observations is 36. If the mean of the first 13 observations is 32 and that of the last 13 observations is 39, the 13t observation
is:/

25 D&T0T T H1ET 36 81 TS TS 13 U&Ui T ATeH 32 A iTAH 13 V&0 &7 AT 39 B, Y 1391 V&0 8:
.22

2.25



3.26
4.23

Correct Answer :-

e 23

38) What is the ratio in which the join of A(-4,3) and B(2,-6) divided by the y-axis? /

9% SrJuTd T B, i g A(-4,3) T B(2,-6) B fram areft ¥ y-s1es gy fyunfora gt @2
1. 1:4

2.2:1

3.1:2

4. 4:1

Correct Answer :-

39) Construction of altars for the sacrifice, applying geometrical facts to perform duties by fixing east-west was assigned to the ./

Tftrerq ¥ e afewl @1 Ao wf, gd- ufim & fRR $3 g Fdadl & WA & R g aal S A @A T e, & S il
1. Sulbhakars / JedThY

2. Aryabhatta / 3y He

3. Bhaskara / HI¥hY

4. Brahmagupta / STeT{ &

Correct Answer :-

« Sulbhakars / JedThT

40) Three cubes each of edge 4 cm are joined end to end horizontally, then the lateral surface area of the resulting cuboid is: /
4 A7 fPARY a1a 7 7= 1 oifew fig Ao U A 2 gu §, & ufvomdt a=ry &1 wief giig dawa &:
1. 120 cm?/ 120 2

2. 150 cm?/ 150 2

3. 128 cm?/ 128 #f2

4. 95 cm? /95 F+f2

Correct Answer :-

. 128 cm?/ 128 92

41) Which of the following is an example of a cubic polynomial? /

Frafaf@d & § B19-91 ¥ 9gUS 1 U ISTeR0 2

1. x5+x3

2. X2+x

3. 3+x

4. x*x3

Correct Answer :-

o 34X



42) describes steps or a set of do’s and don’ts to a method or strategy. /

U faftr a1 Torifar & ==oi a1 A<t & HA vd T8 H1 P quia HRaT e
1. Technique / T&-1d

2. Tactics / gfad

3. Method / fafd

4. Approach / SURTH

Correct Answer :-

o Technique / KEicd

43) The respective positions of three friends A, B and C are (3, 2), (6, 5) and (9, 8) respectively. What does the three points joined together make? /
TN A, B Td C & Tafa RIF R (3, 2), (6, 5) 30T (9, 8) &1 i) fag vep Wy e «ar st 82

1. An obtuse angled triangle / T% SffEeI0T Byt

2. A line segment / T Y41 TS

3. An equilateral triangle / T% THaTg Ay

4. A right angled triangle / T B ﬁ"iﬁ

Correct Answer :-

« A line segment / T a1 TS

44) One among the below does not belong to creative behaviours and that action verb is )
5 A A TP TS IaER A W TR rEa g R aE fraes v R

1. reconstruct / Q:lﬁrlfUT

2. design / =0Tb

3. compare / T

4. alter / R

Correct Answer :-

« compare / &I

45) The radius of a circle whose circumference is equal to the sum of the circumference of the two circles of diameters 36 cm and 20 cmis ./
Tequaltea @ Rt ulkiy 36 I qur 20 St @ arel & gl B a9 & R 21

1. 56

2. 24

3. 28

4. 14

Correct Answer :-

e« 28

46) The major aim of mathematics education is: /

1. Preparing for competitive exams /Uﬁﬁﬁﬁ%ﬁ%ﬁ%ﬂm

2. Mathematisation of the child's thought process /ﬁﬁﬁwmﬁw
3. Solving problems /U%ﬁa%WFﬂ

4. Improving computational skills /Wﬁwﬁﬁwm



Correct Answer :-

. Mathematisation of the child's thought process /ﬁﬁ JaR UfehdT T T eHRu

47) ‘Micro teaching is a scaled down teaching encounter in class size and class time’ was stated by: /
Tgh FRIEIT, HET P PR R FeTF U A Rgurded S gAare’, 38 F gRIBI I
1. Piaget / forgrer

2. DW. Allen / 31 .8&g, TaH

3. Gagne /’aﬁ

4. Bruner / §-X

Correct Answer :-

. DW. Allen / S1.8s, Ua

48) Which of the following is considered as the most suitable approach in mathematics curriculum organization? /
ot & 9 f@a 1o ureaswd sraw § gead Uy TS0 9T Srar 82

1. Psychological /Wﬁésnﬁm

2. Topical / qHRE

3. Unitary / UhTHD

4. Spiral /gt

Correct Answer :-

« Spiral /gt

49) Which of the following is related with Cognitive Domain? /
Frafafea & & o1 dxrrers &7 @ wdfta g2

1. Valuing / H&d &1

2. Applying / TR hRAT

3. Receiving / TgUT hAT

4. Responding / uﬁmh

Correct Answer :-

e Applying / TR HIAT

50) Which of the following aim of teaching mathematics help the individual to become self-reliant and independent? /
i e & fFafafad SEal # & o191 91 354, Al ot TR 3R Wdd a9 & Hag $Rar g2

1. Disciplinary / {RITHTTHSD

2. Utilitarian / START

3. Cultural / W
4. Social / FTHTRSTH

Correct Answer :-

« Disciplinary / S{RITHATHSD

51) Item analysis is a quality assessment strategy to prepare ./

RW+WW%WWWWW%|



1. Question bank / UH S

2. Evaluation / Jedip
3. Examination / erifail

4. Student performance / EIER T

Correct Answer :-

o Question bank / UH Ecd

52) CANCELLED

If the radius and height of a cylinder are in the ratio 5:7 and its volume is 550 cubic m, thenits radiusis_____ ./
Ife U Ao T a1 9U1 FHE BT 3FUTd 5:7 & TUT SHBT S 550 T HieR §, °f st B Bl

1. 6 cm /6 I

2. 7cm/ 734

3. 5cm/5 9

4, 4.5cm /4.5

Correct Answer :-

53) CANCELLED

Three-dimensional topology is a branch in mathematics which is more related with ____. /
A Smamdt iRt (@rdiersh), T A v 2 3 it ¥ ftre Wl 31
1. Biotechnology / g Urenfiet

2. Economics / 3fRd

3. Chemistry / Wﬁ?‘ﬂ:{

4, Physics/%mﬂ

Correct Answer :-

« Physics / ifae o

54) CANCELLED

The equation of line passing through (2,3) and parallel to x-axis is i

I 3G BT JHIHT B, 5 (2,3) A SR TRl & YT x-3181 S AR 8 |

55) CANCELLED
Ifthe sum and product of whose zeroes are 2 and —g . then the quadratic polynomial is i

a%WaﬂTMaﬁﬁwa;mmzuﬁ—i’a‘ﬁTﬁmﬁa@t &

5



1, 5%%—10x—3
5. 5x?+10x +3
3, 5x?+10x -3
4 ¥F—10x +3

Correct Answer :-

56) CANCELLED

The angle which is 24° less than its complement is:
aE FIUT AT HI THRE § 24° FA ¢

57°

47°

330

240

Correct Answer :-

57) CANCELLED

Area of a quadrilateral ABCD is 35 €M The length of the perpendiculars on its diagonal BD from A and D are 3 cm and 4 cm respectively. Find the length
BD. /

Tgs ABCD &7 &5t 35 T2 31 A 3R D & 39% fyaul BD WX oa &t diars svurmn: 3 At ok 4 Al B1 BD Y <iarE 919 B
1. 10 cm / 10 9t

2.15cm/ 15 Gt

3.25 cm /25 9

4.12 cm/ 12 90t

Correct Answer :-

« 10cm/ 10 I7ft

58) Express 486 as a product of powers of prime factors. /
486 1 AUTSY UIH| & °Td &b TUHGT & & & ad 1|
1.3

2.12x 53

3.21x 3

4.53%x2

Correct Answer :-

o 21x 3

59) Jeevan fills a wall in his room with the photos he took. The size of a photo is 21 cm by 18 cm. If he uses 6 photos, then what is the area of the wall?
/



e 7 3 FHR B TP IR B WY gRT o TS a6l § R 3411 T ax iR &7 3R 21 [t x 18 T 81 4fe 98 6 TRART &1 SUURT HaT 8, dl AR
BT &% d fha- 82

1. 2068 sq cm / 2068 TAH
2.2268 sq cm / 2268 G
3.378 sq cm /378 it et

4, 2334 sq cm /2334 TR

Correct Answer :-

« 2268 sq cm /2268 G

60) ppx” —3x+ zisafactorofxq_l"m2 9 then find the value of  and 7" /
afy x“—px2+qmwxz—3x+ 2%,ﬁp3ﬁ?qﬁqﬁmﬁl

1.;rr=5,q' =4

2.p=4,q =3

3.p:2Jq =1

4.p:3,q =2

Correct Answer :-

p:SJq:i}



